Day 7 - Equations of Circles

A Z: ” (:I C is the set of all points (x, y) in a plane that are equidistant from a fixed point called the

_C_ﬁlf\ffZC of the circle. The distance between the center and any point (x, y) on the circle is called

the fg]dlm

The Standard Form of a Circle The Standard Form of a Circle
Centered at the Origin: Centered Not at the Origin:
x2+y2=r2 (x_h)2+(y_k)2=r2
(0 .,0) is the center (h, k) is the center
ris the radius ris the radius #
The General Form of a Circle: '
Ax2+By2+Cx+Dy +E=0
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' Center(h,k)=( 3, 5)
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WRITING CIRCLE EQUATIONS FROM GRIDS

For #1-12, write the coordinates (h
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Radius = ,5
(A -2)24 iz )r=9
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Equation:

Center(h,k)=(-7,0)

.Center(h.k)=( =i

Equation:

7¢;nter(h,k)=(’5 - Radius = 2
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» K) of the center point, the radius length and the equation of each circle.

®

Radius = ﬂ
(X'f7) 2 ;f'[q—-U)L =1l

Equation:

@

Radius= [

(X-2)* Ljﬂ)l—

tEquaﬂon

/~ Center(h,k)=(lp,7T) | Radius=__ &

Center (h,k)=(-], g)

Radlus-_j_.

| Equation:

(4Dt 1y-5) 2= 49

(X2t (Y1) *= 4




Geometry

Equations of Circles

' Ldentify the center and radius of each,

D (x=9)°+(y-6)°=4

¢ (Ab) g5

3) (x+9)°+(y+4) =095
c:(a%) r:yas
5) (x=7+(p+11)=25
C: (1) i)
7 (x-4)°+(y-3)*=81
¢ (u3z) r=19
9) (x-16)°+(y+14)*=38
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2) (x+ 4): + (.r -12V=9

e:(-4,12) r:%

4) (x+ 8)* 5 (y- 4)’ =36

d:(-&,4) r=¢

6) (x+10)*+(y-5)7=41
¢:(-10,5) r=Vg)

8) (x+3)*+ (y- 8)% =77

0:(-3,8) =N

ol

10) (x=15)°+(y+8)°=9
L ( ’ql—&‘) ) 3

. Use the information provided to write the equation of each circle.

11) Center: (] il 2)
Radius: 6

(X-1NZ+H(Y-2)* =34

13) Center: (0, -1 1)
Radius: 5

(x-0)% +(y+1N*= 25
X2 +(YtID*=2¢

15) Center: (1,-15)
Radius: 3

LS (1 115) 2= 9

17) Center: (6, 0)
Radius: 7

G’ +0U-0)2=-49
(A)*ry2 =19

M19) Center: (10, 10)

Radius: 3 y )0 +(y-1)* ==

12) Center: (—12. -5)

Radius: 4
(X +12)* +(y+5)*= %

14) Center: (15, 8)

Radius: 3

(Xx+19)*+(y=8)2= 9

16) Center: (-3, 16)

Radius: 3

(X t+3)>+ (Yy-iLIt= 9

18) Center: (1, 7)

Radius: 7
(X-D% +(y-D*= yq

20) Center: (-11, 13)

Radius: 5
(X"'”)"-’— (g-)3) 2. 26



